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21, The solution set of an inequality is listed below,
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Wihich inequality has the solution set shown on the number line?
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22, Which graph shows the solution set of the inequality:|3,— 1 | 13 ,,,,.r“-
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23, Jeremy makes and sells bobbleheads. His monthly goal is to make a profit over $1,500.
+ He sells cach bobblchead for $30.
+ Hehas 2 monthly fixed cost of $725.
=
The Inequality 30 + 725> 1,500 models the situation. Which best describes the meaning of ¥ in the incquality}
ol =
A. The number of bobbleheads that Jeremy must sell (o recover his monthly fived costs
B. The profit made from 2 months of sales
@ The number of bobbleheads Jeremy must sell to reach hix ganl

D. The profit made form selling 30 bobbleheads
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